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QUESTION 1

Which of the following is a characteristic of decision table processing as used in BRF+ output management?

A. Every table row is processed in sequence. In each row, every condition column cell isprocessed from right to left.
B. It is possible to evaluate the content of condition column cells by using comparison operators or value ranges.

C. It is possible to maintain multiple condition column cells, but only one result column cell for each table row

D. Every condition column is processed in sequence. In each condition column, every row is processed from top to
bottom.

Correct Answer: C

QUESTION 2

During the material availability check for a sales order item, the ordered quantity is completely confirmed on the required
date even though there is only a partial quantity in stock. Which setting could lead to this behavior?

A. The Without Replenishment Lead Time indicator is not set in the configuration of the scope of availability check.

B. The Complete Delivery indicator is set in the business partner master record and in the customer material info
record.

C. The Maximum Number of Partial Deliveries indicator is set to 1 in the sales order item.
D. The With Reservations indicator is set in the configuration of the scope of availability check.

Correct Answer: A

QUESTION 3

When you create a business partner, allocation of the business partner number is controlled by a number range
assigned to which object?

A. Business partner grouping
B. Business partner role

C. Business partner category
D. Account group

Correct Answer: A

QUESTION 4
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Which setting differs between Free of Charge Delivery (FD) and Subsequent Delivery Free of Charge (SD)?
A. The reference mandatory setting

B. The delivery block setting

C. The item category setting

D. The billing type setting

Correct Answer: D

QUESTION 5

You want to determine the item category in a sales document. What do you need to consider? Note: There are 2 correct
answers to this question.

A. The sales organization

B. The material master data
C. The higher-level item

D. The customer master data

Correct Answer: BC
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